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PART 1 (46 points)

Answer the questions for (A) A Summer’s Reading.

A. A SUMMER’S READING / Bernard Malamud

Answer questions 1-5.

1.

2.

3.

Because George left school at the age of sixteen, he (-).
(i) goes to night school

(ii) works as a change-maker

(iii) spends time with his friends

(iv) stays at home all day

(7 points)

Mr. Cattanzara (-).

(i) goes to the park with George
(i1) reads newspapers after work
(iii) works in the fish market

(iv) takes books out of the library

(7 points)

Near the end of the story there is a rumor in the neighborhood that George (-).
(i) went to the library to read books

(i1) stopped going to the park

(iii) finished reading many books

(iv) started working at the cafeteria

(7 points)

(X327 TYa 5-4 MONWY :25 DoY)

/3 Twmyaqwnn/

o/
X4)
L ]

77
2\
NoY NRH L

)
S
=
A
\

AV
INT

Sy
Q5
', /\\

2
(S
AW
u:-\\'[/ ~ N

NEg 544
PR

IS
‘\I\I;;
NI

i’
\

NEZ
Ny
mi|
(N
”
N

'/”
NN\

a

N

,/’,/’
NN
YA
TN
NSl
-
<
//’

Z
X4
4]
/\/
/\\
S
4
2,

=
=¥y
.

V)

~ 7477
Pl
TN,
ialad) oda < g_,:._i.? N

~
N

(X4
=z
)

4
o
4]
7,
s\
N

”,—’\
M
rd
S
7,
AE

rd // 7 /‘
Wi
ZAXANN
TN
-,
v
'S
/
/

-
-

\\;
\ -
.

:
/\/
rd
N



Sy

NS

2\
/,

NN o, 2, S/
-\ ) Y=\
7 NI\ PN
- . < -/\\\, )
<
! ’\\\’///\
SIS

'
,’
-~
YR AT
~
7 »

e
\!
\
O
- 1Y IITNRD 2AINOY RY

=
74~
Y&

N
N
(O3
"\
\/\

|

(A
NS
28
W\
-
<
-/L
AXN

/'~
=)
R

\
-y
AN
oL
Sy
i
NSAN

-
»
~,
\\// e
NS
e S

\\
\/—
-~
72\
'~
A’\‘\
%2
/N,
\/\/—
AN

N\
-
<1
7}
7
S

&
-~
-
d
/‘\\\
S35
\/\/—‘
-\

XY
=

&
22
A
\\
<
2

/ -y
T

NS
f 72\

/A’Q\

N\

-
-

<
/4

N
N3Y

f 72\
-
A
2
/N
S -

4
~
~
/
-
A
L2
4
~
S

-~
oS

=
N (\\\

/.,
v

1T NN
ST

4

2.
"

~/7.
LY
AN

— 2>/ \
7NN
NS TR

\\

RN
/) =\
RN

¢
o
«

~

/
[
Y

N 7.0
- \i=7I\!
’\4:\ \\\§\/

23
Y/
NN

I =\’>
RN

NN o -
I\, =/
,’E:\\:\\\g\

~
iy /\
S

PAXCAN /
NI NN =7
NIRRT

noavy +414,016115,016484 '01 ,n”YWN 9N, INIOD 1P2IIN

-3-

>

4.

S.

Explain the importance of Sophie in the story. Give information from the story to support your
answer.

ANSWER: Lo e e e e e e e e e e e e e e

(10 points)

For this question, choose ONE of the thinking skills from the Appendix (noD)) on page 10
OR any thinking skill studied in class. Use this thinking skill when answering the question.

(10 points for the content of the answer, 5 points for the correct use of the thinking skill)

When George meets Mr. Cattanzara for the second time, George knows he “looked passable
on the outside, but inside he was crumbling apart”. Why does he feel that way?

Give information from the story to support your answer.

Thinking SKill T ChOSE: ...coouiiiiiieiiee ettt ettt e st esbeeens
ANSWER: et e e ettt et e e e e e e e eeeeeeens

(15 points)
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PART II (39 points)

Answer the questions for (B) Thank You, M'am.

B. THANK YOU, M'AM / Langston Hughes

Answer questions 6-10.

6.

At the beginning of the story, Mrs. Jones (-).
(i) is looking for Roger

(i1) is going to buy food

(iii) is walking alone at night

(iv) is on her way to work

Why does Roger want money?

ANSWER: L.

(6 points)

What does Mrs. Jones do when they get to her home?
(i)  She hides her pocketbook.
(i1) She talks to the neighbors.
(iii) She calls Roger’s parents.

(iv) She prepares dinner for them.

What does Mrs. Jones tell Roger about her life? She tells him about her (-).
(i) friends

(i) job

(iii) family

(iv) plans

(6 points)

(6 points)

(6 points)
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10. For this question, choose ONE of the thinking skills from the Appendix (n5v3) on page 10
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PART III (15 points)

Answer the question for either (11) The Treasure of Lemon Brown OR (12) The Road Not Taken.

Suggested length: 60-80 words.

11. THE TREASURE OF LEMON BROWN / Walter Dean Myers

“The value of something is in its importance, not in its cost.” — adapted from Aesop, Aesop’s Fables

Make a connection between the above quote and the story. Give information from the story to

support your answer.

12. THE ROAD NOT TAKEN / Robert Frost

“I am what I am today because of the choices I made yesterday.” — Steven R. Covey

Make a connection between the above quote and the poem. Give information from the poem to

support your answer.
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APPENDIX TO PARTS I and II

Thinking Skills

e Comparing and contrasting

e Distinguishing different perspectives
e Explaining cause and effect

* Uncovering motives

e Inferring

e Explaining patterns
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